‘
- Worksheet 10

Answer key
1
| have to
You have to
He has to
She has o leave now.
We have to
They have to
Now make the sentences negative. Now make questions.
e.q. / don’t have to leave now. e.q. Do [ have to leave now?
You don't have to leave now. Do you have to leave now?
He doesn't have to leave now. Does he have to leave now?
She dvesn't have to leave now. Does she have to leave now?
We don't have to leave now. Do we have to leave now?
They don’t have to leave now. Do they have to leave now?
2
1 have to
2 hasto
3 have to
4 don't have to
5 doesn't have to
6 hasto
3
1 have to
2 have to
3 hasto
4 don't have to
5 have to
6 have to
7 doesn’t have to
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